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All chemical equations you give should | _aLwest O¥slad) aianr oS!
be balanced including the conditions of | S o g i S e i i

the reaction. . .
Answer the following questions: PAGY ALY oo

Choose to answer (a) or (b). 1(2) 91 (1) s Aol S -
Write down the scientific concept that is| 3Ll e 141 Lelall zllaaal| COS)
expressed as: o dulex 3l pedt 5Lt Adass ddee (1)

(a) The process of coating the metal to be
protected from rusting by another metal
of less reactivity.

(b) Systems in which the chemical energy is -
converted into electrical energy through re AL JEy Baus] Jela
spontaneous irrversible oxidation- s
reduction reaction.

oL de JB1 i jlay loual)
Blall  fg=d  led el deayi (o)
IS (pe Do pgS Wl I AdleansT

Choose to answer (a) or (b). 1(2) 91 (1) e Aala M) pd5 - ¥
Write down the equation of Hematite 158 el Lot J1 51 Walae CS|
reduction in: BRIRIRAIT0
(a) The blast furnace. S ke O3 ()
(b) Midrex furnace.

2
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Choose to answer (a) or (b). 1(2) 91 (1) ope Aala M1 e ¥
Show by chemical equations: 140 LS O¥ s laetly mayg
(a) The reaction of diluted hydrochloric acid |<aasel! wliyslS g gl paes Jolas (1)
with sodium sulphite. - porgall Cedn 4 S 2o
(b) The reaction of hot concentrated sulphuric | jS st <lin y&I1 e Jeolas (o)
acid with hydrogen bromide gas. O 9 5egd e g S pe (3Lt

m Choose the correct answer: _ P
If30 ml. of nitric acid is neutralized with 10 ml. Pl X I
. : i o 10 po by y2cdl e (o Ja 30 Jalas 130
of magnesium hydroxide whose cocentration ¥ NP :
1s 0.3 Molar, the concentration of nitric acid WO s FER
. i gl Ll yiddl paas 58 )5 0la
equals:
@ 0.01 Molar $5¥300.01 (1)
(®  0.02 Molar $¥340.02 (O
@ 0.1 Molar (%50 0.1 @
@ 0.2 Molar ($s¥50 0.2 @
Give reason for: tdle -0
Iron melts at a very high temperature that| uai idle 5, > dx ys dic dodst! rguain
reaches 1538°C. Aagie VoYA I

v/ U.JLIJI JoaJl - d=salpoldalinl) ad A auj



YW/ gy bt = LY gt (Al ¥ Aal1Ls) o LeasSI 1 - Zaladt A 3L Ayl aLad] Balgs (lontal

I3 An electric current is passed through | ide st Jstos 3 268 HLS el 1
an electrolytic solution of silver nitrate | aaatt (yo 2551 (po duaalt Ofad

between an anode of silver and a cathode o) (ye 29518
of iron. Show the change that would |.:s5S3 A8 e ey a3 piidf g
happen to the cathode mass. Explain ol yud

your answer.

Show by equations how you would obtain | jaes e duasi oS O¥alacdly ping -V
carbolic acid from the simplest aromatic | 0g,Sgyte  dawsl  (po Lt g, I
hydrocarbon. (Sileg)]
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mlf the degree of solubility of aluminum | «wSgyce  Olgy asys  colS  13)-A
hydroxide Al(OH); is 1070 mole/litre. |10 gsbus Al (OH);  asuiagt¥!
Calculate the solubility product of|LhBY Jwls ded cws!l I /Jge
aluminum hydroxide. poe g ¥ S g yg!

[EN Show by chemical equations how t0 | Juaxs a8 ailea Sl O¥slaatls g -4
obtain ethane from methane. Oliat! (yo OLla¥ ! Lo
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Choose to answer (a) or (b). () 91 (1) pe Al WH judn3 - )
Write down the scientific concept thatis | 3 Lall Lle JIat alal mllaael| S|
expressed as: aaledl GligSe le il lgd @b dulec (1)

(a) A process involves the identification of |  .3lge3uc (e o gline o ad colS ¢lgu
the constituents of a substance either being | (o astas e 58,5 i Adac (2)

pure or a mixture of several substances. ex>  Aglaey  uaels  Jalowe
(b) A process of determining the concentration | Jalsis @31 G lal! Jalmal! 58 59
of a given volume of an acidic solution by Lolad das

knowing the volume and concentration
of the alkaline solution that completely
neutralizes it.

How can you distinguish, without using | aafsS alasiw! g jwed oS -\ )
chemical reagents, between lead (II)| olo ! wyslS mlo o ablues
oxide salt and potassium chloride salt? $pgali o1 s 5318 ela g (1)
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Choose the correct answer: + Aoviuial| Agla ¥ i\ ¥
The following ions are paramagnetic and | zsgieq a_cudslise |yl AdLE SLigY!
coloured, except: el

@ Ti* i (O
® Mn? Mn2 ©
© Fe Fe3* &
@ v¥ v

EEH What would happen after a while from g (4o Biay 5,08 day Gousy I3le -\Y
dipping a magnesium rod into a blue|(e Jsloe 2 pgwidled) (o Gl
copper sulphate solution? 218 )31 ulomd | Ol 48

Show by chemical equations how to | Juasd oS ddleast O¥slaatlipeng -\ ¢
obtain triglyceride ester. P o) A i e
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Give reason for: 1 Lt Je -V 0
The lead acid battery is considered as a|s dwael=tl jolw,dl dullay cas
secondary galvanic cell. LA gL A LAl | L ST

Choose to answer (a) or (b). 1(2) 91 (1) e Aala W1 jdx3 -1\ 1

Show by chemical equations how to obtain: | : ol Jaxd <28 Lo Lesd S¥slaelly g
(a) An organic compound from an aqueaus | (xS ! ile Jolos (ro g guae S pa (1)

solution of two inorganic compounds. (rigas
(b) Dihydric  alcohol from monohydric |J$=S (- JeuSgrgll Hlia Jss Ee)
alcohol. S g gt galsd
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FEA Arrange the following steps to obtain | e Js—amit AJ0 S gtasti iy -\ V

sodium ethanoate from sucrose: 1 3955wl (po A9 gualt Ol g3l
(Complete oxidation - Fermentation - — Jalad - YamS yeii - Aeli Suwsi)
Neutralization - Hydrolysis). (e S

Calculate the pH value of a weak mono- | e Jstmed pH aed cownt -VA

protonic acid of concentration 0.2 0.2 658,35 O5igrdl Galal awass
Molar, given that its degree of ionization | gslus auli 2>, ob e )Y g0
equals 0.03. 0.03
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Choose to answer (a) or (b). 1(2) 9l (1) (s Aol i -1 4
Write down the scientific concept thatis| 3 lal e JIu Lelal! pllamedf LGS
expressed as : GO las JelsS ansvin MES! juaic (1)

(a) A transition element used as a catalyst| . (uig - ,la) 2as oy jlat jlé dcbiw
in the industry of ammonia by (Haber-|s3iel Led plis juolic e game (o)
Bosch) method. o0 adiy 4d) ool (5 gl

(b) A series of elements in which the sublevel | .s;981 Jgamd! (yo dualsndts gt
(4d) is filled successively and located in
the fifth period in the periodic table.

Choose to answer (a) or (b). () 91 (1) e Wl W1 45 =Y
Show by chemical equations a confirmatory | 4:-.Sh 4y A0 LeesI O¥ s laal g
test to detect for: (e LSt
(a) Sulphate anion. Sl S (9201 (1)
(b) Thiosulphate anion. Ol S 5031 (901 ()
10
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Choose to answer (a) or (b).

Explain:

(a) The rate of the chemical reaction depends
on the type of bonding in the reactants.

(b) The electric conductivity of sulphuric acid
does not increase by dilution.

(Al ¥ 221 o LeaST - alad! d 9350 2al ot aled| Balgds (ylovia

() 91 () e Al W1 po>i - Y

§ g

ML ilee ST Jo Lot 1 ae o calisn (1)
Jalelatiot ol gatt ‘“,2. dasf 08 £

o ST e S 93 A 93 31355 ¥ (o)
da T 831 5 (o eI LAY

Mention one importance of the chemical | ileesSI! Joill 5usly Zeoai 831 =YY

analysis in the medical field.

Choose the correct answer:

On mixing two equal volumes of hydrochloric
acid and calcium hydroxide solutions, each
is of concentration 1 Molar , the produced
solution would have:

an acidic effect.
pH value equal 7.

an alkaline effect.

®0eE

pH value greater than 7.

it Jlos 2

t dovouall Aol D -YY
3P peedlSI) uS gydg LhiyglS g gl
:@L}J!J}Ml‘;’,@zg)yﬁ 1 Legin JS

©)

11

ol s a18

.7 e St at pHaos

v/ U.JLIJI JoaJl - d=alpoldalinl) A A uj



YW/ gl pd bt LD gt (Al ¥ AaLs) o LeasSI 1 - Zaladt A 301 Ayl aLad] Balgs (lontal

Give reason for: rle -V ¢
Nickel — chromium alloys are used in heating | clate 3 pg,Sty JSatt clilew RITEI
coils and electric furnaces. Ao ST O a Y g Cpduadd|

Compare between alcohols and phenols | -2 &% st g O oS3 (b 1)L - Y0

in the table below. P8 (v (I PRCS |
Point of comparison Alcohols Phenols
ylaatl ax Y g O gall
Acidity |

danlod! A s

Reaction with caustic soda
A glSI Iaguatl pe Jolaidl

Naphthalene and diphenyl are aromatic | SLS ra1 (o it UG g e Baidt - ¥

compounds. LA leg ¥
First : Write down the structural formula of Legie JS? Al Ricual | L3811 % g
each . A

L) (yiom g yeigll O¥ 9o sae Lo+ LA

Second: How many moles of hydrogen are . .
Slogin S po JS pcad

sufficient to saturate each of these
compounds?

12
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The diagram below illustrates a galvanc cell

P Al Ads e g TN S - YY

Salt bridge aates s

First : What do you expect for the value
of the electromotive force if the zinc
half-cell is replaced by an iron half-

cell?
Explain your answer

Second: What would happen ifthe salt bridge
is taken out from the cell solutions?
Explain your answer.

AaBIiN By At he Bt a8y 3o+ Wi
As () Jhidl @3 3] A eSSt
Sy Bl ey (i st
AT
Aol 15 pdaiat | 4B ) die oy 13ke 1 LA
iy lon |yt SALS Tl (ro

13
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Choose to answer (a) or (b).

Write down the scientific concept that

expressed as:

(a) An aromatic compound in which two
hydroxyl groups are directly attached to
the benzene ring.

(b) A polymer that is heat-resistant,

electrically insulator, inert and used

in surgical threads.

(2l ¥ 2RI £ Lo - olad 2 L Al yld) LS| Balgs sl

1(2) 9l (1) (o Al M1 4T - YA
13 lialt Gle I alal) pllaaglf (S
Ol Al 4 Sl (le gl S re (1)
S 9y (e gamas B plilie
Jileg 351,01 Sl s ey jed 9 (o)
o gt | (B iy ol g L pgSUS
s |y

Choose to the correct answer:

The reaction between hydrochloric acid and
propene gives:

1,1 dichloropropene.

1,2 dichloropropene.

2- chloropropane.

®0eE

1- chloropropane.

14

t doouall Aol oo - Y4
e HusiSongl! paes Jelai e
e (g !

Oearsss sy (D
(990818 AL Y @
Sbarmass Y &)
Sharanss v ()
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Give reason for: L dle v

Phenolphthalein is not used to distinguish | joceaitt 2 -dliat gl adsing ¥

between ammonium chloride and sodium | ;585 pg-cige¥ i dyyslS I gloms (3
chloride solutions. .p g3 guall

In the following reaction S el o oY)

AgNO;+ NaCl ———— NaNO; + AgClI
Which graph represents the relationship |(ne 28Mall (se e 2JIEI JSa¥ gl

between the concentration (C) and time A(T) (o319 (C) OMelaial! 58,5

(T) ?
C C C C
\, \

T T T T
@ ® @ ©

Show by chemical equation the effect of

Slrel A1 Wbl Aalaoll mung -TY
passing steam over hot iron.

Ol dasd | e sl f b

15
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Using one reagent, how can you distinguish LA.L& el (S g cadlS alisiwl Y
practically between the solutions of sodium | agssgall wis »€ olo Jglme (po

sulphide and sodium sulphite salts? g gualt Colis yuS
Choose to answer (a) or (b). (@) 91 (1) oo Aol W1 i ¥
Show by equations how to obtain: 1ode Juand a8 AlbeaSH O s laetl il g
(a) Trinitrotoluene from benzene. C Ot (e (Y 9o g i A ()
(b) Cyclohexane from phenol. Jgaal| (pe Gttt HlusS el (o)

16

v/ U.JLIJI JoaJl - d=alpoldulinl) A A auj



YOAV/TNT Gl ol plalf - AT 59 (A el ¥ 2300 o LearI 1 - Zalad s 30 Ayt alad | Balgs (lowial

Show by equations both oxidation and |s.wS¥1Jelss (o MS S¥alastly o9 Yo
reduction reactions in the fuel cell. 298 M Ads B J1s o Jelady

Show by equations how to obtain iron Il | 4,88 e Jami S S¥slacdl ag -*1
chloride from magnetic iron oxide. REPPRACEN {INEREN (RO 0 I st

17
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Choose to answer (a) or (b).
Write down the scientific concept that is
expressed as :

(a) The reaction that proceeds almost to its
end having a high value of equilibrium
constant (K¢).

(b) Concentration of the saturated solution
for springly soluble salt at a certain
temperature.

(2l ¥ 2RI £ Lo - olad 2 L Al yld) LS| Balgs sl

() 31 (1) 5 Aplar ¥ a3 - ¥V

+3 )Ll Gle JIAM alall gllamal COSH

Lodie e IS0 peun 1 Jelad| M
s (K o351 cats ssy

el (o pdiall Jbovall 38,5 ()
day wie slodl G Lol med
ikas Byl

Show by equations how to obtain|ole Juasi oS O¥slasll my -TA

propanone from a suitable alcohol.

Choose the correct answer:
The compound 2,2 dimethyl butane
considered as an isomer of the compound:

O
®
©
@

18

1S

2- methyl butane.

2,2 dimethyl pentane.
2- methyl pentane.
2,2 dimethyl propane

ulin J 98 (yo O g3lag 41

s Aseoual) Ayl M1 4 -Y'4
OLig0 Jmitlts (L ¥ 0¥ S ol i

1S ol a9 5

s dies ¥ (D

Ol de LAY Y Q)
RIS

Olig s Juiee LS Y (Y ©)
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ETY In the following reaction: U Jo AT -+

N.H, ==—=N, +2H,, AH=()

What is the effect of increasing pressure on Sdelail s e darialisalyy 51 Lo

this reaction?

Give reason for: rdle-t)
The copper ion Cu?* is coloured, while the |t esi Laia« ggte Cu®’ Lulomid G gal
zinc ion Zn?" is colourless. Oske s Zn*'

Show by equation the reaction between | asssgalt ausgs Jelad Walaalls g -£ ¥
sodium iodide and silver nitrate. ol Oy e

19
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Choose to answer (a) or (b). (@) 91 (1) oo Aala ¥y -8 Y
Show by chemical equations how to obtain: | ke JaxiaS Lol O¥sladtl g
(a) Iron (IIT) oxide from iron (1) oxalate. (1) s SYLST fyo (TT) ciont | s (1)
(b) Iron (II) sulphide from iron (IIT) oxide. (M) s weaST (o (1) cbisd| s, (0)

20
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EY8 The molecular formula C,Hg O represents
two isomers. Write down the structural
formula of each of them. How can you
distinguish practically between them?

O a3 CHO dinjst! Lol -££

Ol 3]

Sy hogin IS AGLD daall LOS)
Tldee Logio jcraid | dliSan

21
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Four monovalent elements A, B, C and | D, C, B, A 33131 Zosla yolic 2ay,i ~fo

D whose oxidation potentials are given s AL Jgumdly Lgious 3 gg
in the table below:
A B C D
04V -0.8V 0.76 V 29V

Calculate the greatest value of electromotive | 4w ¢S 2adlatt 3530 Aed 2T Cows
force that can be obtained when forming a|aoclats ads (4 eSi lgide J gt EliSan
galvanic cell using two of these elements, and | ccSty « jwliall sia o (oraic o
write the diagram that represents this cell. At 00gY o Mas Y e,

22
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